
Lesson Plan #55 Thunderstorms 
 

Crash, Boom, Bang 
 
Name: ________________________      Date: ______________  
 
Multiply the numbers together and then match up the answer with the letter in the code to  
find the letter that goes on the line.  When all the clues are matched, you will see a 
message.  
 
Code  
8 = a   9 = c   12 = d  16 = f  18 = g  24 = s  
25 = n  26 = v  28 = p  27 = r  32 = t 35 = u  
36 = o  40 = e  42 = y  45 = h  48 = w  56 = i  
63 = m  64 = l  
 
For example, the first one is 4x6 = 24 which is letter s.  
 
_s______ _______ _______ _______ _______ _______ /  
4x6  8x5     2x13 4x10      3x9 5x8 
 
_____ _____ _____ _____ _____ _____ _____ _____ _____ _____ _____ _____ ____ / 
8x4    9x5      5x7     5x5 3x4 2x20   3x9     3x8     8x4     4x9    9x3    7x9 2x12 
 
_____ _____ _____ / _____ _____ _____ _____ _____ _____ _____ /  
3x3    2x4     5x5 3x4 20x2   2x13   5x8      8x8 4x9 4x7 
 
_____ _____ _____ _____ /  _____ _____ _____ _____ ,/  
6x8   9x5    10x4     5x5 12x4    2x4     3x9     3x21 
 
_____ _____ _____ _____ _____, /  _____ _____ _____ /  _____ _____ _____ /  
9x7     6x6     8x7      4x6     2x16     4x2     4x14   3x9    2x4    5x5     2x6 
 
_____ _____ _____ _____, /  _____ _____ _____ /   _____ _____ _____ /  
3x3    3x12   6x6    4x16  1x12   1x27     42x1      8x1     8x7     9x3 
 
_____ _____ _____ _____.  
9x7    8x5     1x40    8x4 
 
 


